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BIRE 1.

Find the linearization L(X) of the given function f(x) at X=X,

(1) FT(X)=VX*+9, x,=—4  (2) f(X)=tanx, X, =7
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BIE 2. (REHEB 7-1)
Show that the linearization of f(x)=(1+x)" at x=0 is L(X) =1+kx.
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BIRE 3. (RsEif 7-2)
Estimate the following.

(1) (1.0002)'°  (2) {/1.0007
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BIE 4. (R 7-3)
Estimate the change in the volume V = g zr® of a sphere when the radius changes from r, to

r,+dr.

27
RNBEED HRIX



R—ED ()

IR 5. (REEEH 7-4)

The radius of a circle is increased from 2 to 2.02 m.
(1) Estimate the resulting change in area.
(2) Express he estimate as a percentage of the circle’s original area.
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